
SAP ABAP table REXCC_IT_IRE_CALC_PARAM {IRE Calculation parameters (TIVXCITIRECALCPA)}

REXCC_IT_IRE_CALC_PARAM

MANDT [CLNT (3)]

IRECALCTYPE [CHAR (2)]

COND1 [CHAR (4)]

COND2 [CHAR (4)]

COND3 [CHAR (4)]

COND4 [CHAR (4)]

COND5 [CHAR (4)]

TAXCOD1 [CHAR (4)]

TAXCOD2 [CHAR (4)]

TAXCOD3 [CHAR (4)]

T000

MANDT [CLNT (3)]

 REXCC_IT_IRE_CALC_PARAM-MANDT = T000-MANDT 

0..N

0..N

TIVCDCONDTYPE

MANDT [CLNT (3)]

CONDTYPE [CHAR (4)]

 REXCC_IT_IRE_CALC_PARAM-COND1 = TIVCDCONDTYPE-CONDTYPE 

0..N0..N  REXCC_IT_IRE_CALC_PARAM-COND2 = TIVCDCONDTYPE-CONDTYPE 

0..N0..N  REXCC_IT_IRE_CALC_PARAM-COND3 = TIVCDCONDTYPE-CONDTYPE 
0..N

0..N  REXCC_IT_IRE_CALC_PARAM-COND4 = TIVCDCONDTYPE-CONDTYPE 0..N

0..N  REXCC_IT_IRE_CALC_PARAM-COND5 = TIVCDCONDTYPE-CONDTYPE 

0..N

0..N

TIVXCITIRECALCP

MANDT [CLNT (3)]

IRECALCTYPE [CHAR (2)]

 REXCC_IT_IRE_CALC_PARAM-IRECALCTYPE = TIVXCITIRECALCP-IRECALCTYPE 

0..N

1

TIVXCITIRETCODE

MANDT [CLNT (3)]

IRETAXCODE [CHAR (4)]

 REXCC_IT_IRE_CALC_PARAM-TAXCOD1 = TIVXCITIRETCODE-IRETAXCODE 

0..N

0..N

 REXCC_IT_IRE_CALC_PARAM-TAXCOD2 = TIVXCITIRETCODE-IRETAXCODE 

0..N

0..N

 REXCC_IT_IRE_CALC_PARAM-TAXCOD3 = TIVXCITIRETCODE-IRETAXCODE 0..N

0..N


